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Shammai said from one Kav for - 2°2pn 22X 5977 790 2pn 928 IRRR
Challah and Hillel said from two Kavim

Overview

The R2) cites a NPYPnn between 92 *Rnw as to the amount of dough one needs to
be 2% in separating 1171, According to *Xnw one 2p and according to 991 two 2°2p.
mooIn explains the reason for their respective views.-
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The reason of %71 "Rnw is explained in >»5219° 77150, because an 79X is eighteen
2%ap -
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And a tenth of eighteen 2P from the ‘outside’ is two 192 and for this amount

one needs to separate 771 according to ®%7 -
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And >8»w maintains that two loaves are needed for the 927 for they made from

this 721v two meals one in the morning and one in the evening -
$9299 3N0Y INNPY PUN NNN NDIIN NYIYI)

And >R»w considers one meal to be the ‘dough of the dessert’.

Summary
5% maintains that 791 be taken from an W (which is two 13p), while >Xnw

maintains from half an 71 (since the 1Y was used for two meals).

Thinking it over
1. It seems that 2m *Xnw argue with the o131 whether the tenth is 12%1 or W%,

how come they do not argue regarding other 7N measurements?*

2. How can we explain the npyonn between 97 *Xiaw whether we take a tenth from
the whole 727 (food for the whole day) of half an 72 (food for a meal)?

! The 770 writes (Y2, [2wa] nmw) concerning the 9w (the amount of 11 each Jew received daily) that n>wy mvm
X1 19°Ki. The 771 211 is associated with this amount of 1. The 770 (in 3,7 [77w] 12713) writes regarding 77n nw157 that
" 191 02Mow R, and we expound (X,39 1°217°Y) the word 02°mo™Y to mean 1272 NO°Y *7 which is 79°X7 NPWY. An
719K is three R0, a 7RO is six P3p. [FYT a 2p is 24 eggs, or about 48 ounces (or three pounds of flour).]

2 9291 (from the outside) means that when you take this fraction (in our case 2) and add it to the principal (in our case
18) the fraction (2) will be a tenth of the total 18+2=20; 2 is a tenth of 20. It really mean a ninth. 18/9=2.

3 This is the 9mW which is 79X n>Wwy. A tenth is two 2°2p (see footnote # 2) and half of that (one meal) is one 2p.

4 See w"w.
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